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e A RO 2R @ 2K, 12%2%297.44, 2 /%:97.44, R

JPNN
A0 FE A PR RS R B3 =0.719 5.13 BT B

N 78000

T 0719, 253107 42.86N/mm? < 215N/mm? YA/ N pmin=0.600%
(1) . X .

AT AT as=50mm

42 HITRIEN K3 AT B /N % pshmin=0.200%6
SKF Q235 AL A1, B 100mm, PYEEEEE 8mm, Fi AT 1=9161mm . A A7 2R IRV RE - ho= hu=h-8:=1500-300=1200mm

1 H: A =2513.27mm? EESR
R A, mm 514 FHIER

FAAERE: 1, =2464818.2mm*

AP : W, =39986.2mm* i1 7315 1HE: N=317.000kN
I 57 77118 V=420.000kN
EIL=E Y P =\/: =31.3mm
A 255 1 E M=1092.000kN * m
R I
P 22716 5.2 tMARR BT M EHEMNGEHITE
=—= =9.04N/mm? < 215N/mm?, i
77 A T 251327 WERR

ALER S TE S G g
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i, =h/(12°°) = 433.01mm
i, =b/(12°°) = 404.15mm

a, = 1.00
B = 0.80

FH VR Ak 35 A 5K(6.2.1-5) AT R Bk AR R s . A%
&, =0.0033—( f,, —50)x10—-5=0.0035

FH YR E B3R 4.2.5 nl 54 i s M AR

E. = 200000.00MPa

FH VR4 T RYE A 3(6.2.7-1) T FIAH T S PR 52 1 X /= B

&=p1(1+1,/(E &,))
0.80/(1+360.00/(200000.00 x 0.0035))
= 053

MM : A=bh= 1400.00 x 1500.00 = 2100000.00mm?
PR AT ITE R 6.2.20-2 AT AR THHE K
lo = 1.00Hy
=1.00 x 2600.00
= 2600.00 mm
A 2w
bo = b-as = 1400.00-50.00 = 1350.00 mm
ho = h-as = 1500.00-50.00 = 1450.00 mm
iR g IER 6.3.6 R ANHE L
=N/ - A)
= (317.00x1000)/(23.10x2100000.00)
=0.0065 < 0.85 iff &l LK .
AR HIEE 6.2.15 nl K 4L
lo/b =1.86 <50.00 i & KA ELE K,
My = M2 = 1092.00 KN * m

FRIE Ve T RIS 6.2.5 4% n AP 0o PR

23

ea = 50.00 mm

{(CEVSE

o = My/N = (1092.00 X 10°)/(317.00 X 10°%) = 3444.79 mm

WItA O ER
ei = €ptea
= 3444.79+50.00
=3494.79 mm
i) s A 2 AN 5 0 s R
e = e;+0.5h-as
= 3494.79+0.5X 1500.00-50.00
=0.00 mm
U 32 11X v
X = yoN/(aafcb)
=1.00X317.00/(1.00X23.10X 1400.00)
=9.80 mm
X < ¢bho, I N K032 % o
X >=2as, HRAEEEELFVE 6.2.17-2 AT 45 HMUEN 5 I AR

A=A, = [Ne—a,fbX (hy—X/2)]/((f,(h-a,))

=[317.00x0.00-1.00x 23.10x1400.00x 9.80 x (1450.00 —9.80/ 2) |/ (360.00 x (1450.00 —50.00) )

=1711.72 mm’

MR PR VR AE TR 8.5.1 B4 AT A 1) 4 7 fie /N A 26
P'smin = 0.55%
e NENEEEEE S ZN W TR A
A'smin = p'smin - A
= 0.55/100%2100000.00
= 11550.00 mm?

ARAE VR EBE LT R 8.5.1 — M 17140 i i 7 2
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p'si = 0.2% M=21.69kN * m

— {0\ i 6 A5 B /I T 5 T R R AR AR 4%
A = p'sxA B t=22mm, d=22mm, MRIERMMTE EC5, td>1, AIHLAFEH .
= 0.2/100x2100000.00 BB T AR F bR AR H R U5
= 4200.00 mm? Ri=Kaminadfha
B As < Asminf2, As < Ag,  BCRLUER 57 T A Kamin=min{Ka, Kainis, Kav}
As = 4200.00 mm? T4 B THI AR AR R ) BT E -
JEARILE 16 M A% 32mm (R EN - K = min { Ko Kan Ky }
7 7m 7w
5.3 AR R EA RS ENHEHTE S R T A K P B
B L Ka=1.0 CHETER)
7y = MI(Vyho) Kai=0.5 CHASRAROR BRI IE )
= (1092 x 1000000)/(420.00 x 1000 x 1450.00) Ko, = /2+0-f;'::pfyk 4
-1 1 [0.55k,f .
holb = 1.05 < 4, ARy 1M 6.3.1 % K :Z\/T:pyk (BATFAL Kan=0.5)
Vymax = 0.254fcbho= 0.25 x 1.00 x 23.10 x 1400.00 x 1450.00= 11844.53 KN A
8571V < Vymax, BRIl 2 26 a EMERAN 1 (1 JE
MRV ME 6.3.13 5 o A2 A T A KA P A P AR B
1.75fibho/(Ay+1)+0.07N fyic A2 1100 Je I e B A A A5
=1.75 x 1.89 x 1400.00 x 1450.00/(1.79+1)+0.07 x 317.00 x 1000 Fha A2 A ) B 08 AR s R L
=2466.99 KN >V i & n NEHAEEL, AR R S EARI .
F5 I A R AT Kep FYPRIATE AL, ATXTHRE AOICRIAN, RIHX kep=1.0,
PR EAR 10mm (46T, IR EE S=100mm, A, KTy g B 4 RS . K A2 5 1 28 PR 2 A T T i 5 i MR S T B R O LU AR, B kw=1.4

6. T =it

A ALY it

N=270.2KN
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6.1 82 HEfR 6 22958.47 40.39 050 0.42 0.13 0.13 34968.71 37200.75 22958.47

7 22958.47 40.39 050 042 013 0.13 34968.71 37200.75 22958.47

I I 8 26340.48 31.79 0.50 0.42 0.15 0.15 31022.22 33002.36 26340.48

9 34468.18 35.47 050 042 0.14 014 32769.14 34860.79 34468.18

10 31958.19 4131 050 042 013 0.13 35367.68 37625.19 31958.19

11 31958.19 41.31 0.50 0.42 0.13 0.13 35367.68 37625.19 31958.19

12 34468.18 35.47 050 0.42 0.14 014 32769.14 34860.79 34468.18

= 277777 7T77 77F7 77727 /')i'/ P7 7777777777 )}' :

HNE RAhot

1. NEARMELLFEFEA
(D JUTSHL
FEFEFETE: be=400mm, FETEAESE: hc=400mm
Femtvm e . h1=200mm
FEREAR #E = FE . h2=300mm
FRAE TG 25K, B e3=100mm > 4d, s=100mm>4d, r=100mm>2d, ,e,=50mm>min(r/2,
FEREA & . h3=300mm
1.5d)=33mm.
FEREAEJEZ . a1=200mm

6.2 I HIZH2 S 11t RE AR B1=1200mm, B2=1200mm

B . N i i FERBTERE . A1=1000mm, A2=1000mm
2R Ee Rleri B R R A K S 2 FAMERE R B e BN

_ MEEE . t=200mm
TR 7R R 50 T FIT 52 47 %5,

. (2) MEMEE
n Frmax fhao Ka Kais Kaiv minK R 2R/ y Frax

SERtREEE S5 €50, f, =1.89N/mm?, f, =23.IN/mm’
1 1913939 2599 050 042 016 016 28051.34 2984185  19139.39

MEAMALGHE: f,=5.0N/mm*, f =13.3N/mm?*, f =12.3N/mm’
2 1412751 3753 050 042 014 014 3371000 3586171 1412751

S =} _ 2
3 1412751 3753 050 042 014 014 3371000 3586171 1412751 WHZ: HRB500, f, =435N/mm
4 1913939 2599 050 042 016 016 2805134 2984185  19139.39 (3) MR
5 2634048 3179 050 042 015 015 3102222 3300236  26340.48 BB RN 7, =10
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SRR d, =1.500m
I E ) RBILAEE: ag =40mm
KAt S BB LT %5E: y = 20.000kN /m®
FONEB%: p,,, = 0.150%
M, =145kN-m M., =0.00kN -m
V, =50kN V,, =50kN
Fy. =198kN
(4) HHESH
1) Hfhak: B=B+B,=1200+1200=2.400m
2) HAsdE: B, =A+A,=1000+1000=2.000m
3 HAlism: H=h,+h,=0.200+0.300 = 0.500m
4) JERWE it E=E: h, =h, +h,-a,=0.200+0.300-0.040 = 0.460m

5 HfhmA A=B, x B=2.400x 2.000=4800m?

6) G,=yx B, x B, xd,=20.000*2 400*2.000~1500=144.000kN
G=135x G,=1.35x144.000=194.400kN
(5) THEMEHAERERRHSHEE
1D BB O BT T R
p.=(F,+G, )/A=(198.000+144.000)/ 4800=71250kPa
y*p=10x 71250=71.250kPa < f.=150.000kPa
O AT A P R R E ) R K
2) WS fhi Lo o7 51 IS HO b AR )
&,=M ,, /(F+G, )=25.000/(198.000+144.000 )=0.073m
|exk| < Bx/6=0.400m x J5 [l /M i,
Pansc x = (Fc + Gy JA+6x|M /(B2 x B, )

— (198.000 +144.000 )/ 4800 + 6 x|25.000]/( 2.400? . 2.000)
=84.271kPa

29

Pk min_x:(Fk+Gk )/A'GX“VI dykll(Bf x By )
=(198.000+144.000 )/ 4800-6 x|25.000}/( 2.4002 x 2.000)
=58.229kPa

e, =M . /(F,+G, )=145.000/(198.000+144.000 )=0.424m
e, |>B,/6=0.333m , y Jrli K,
a,, = B,/2-|e,, |= 2.000/2- | 0.424 |= 0.576m
P

kmax_y

=2x(F+G, )/(3xB,xa, )
=2x(198.000+144.000)/(3x2.400x0576)
=164.924kPa

Pemin = (Rt G, )/A-6x|M dxkll(Bj xB,)

—(198.000+144.000 )/ 4.800-6 x[145.000//( 2.0002x 2.400)
=-19.375kPa
3D HhE HEAL R T & WA
Pk max (Pkmax_x-pk )+(Pk max_y-pk )+pk
— (84.271-71.250 )+(164924-71.250 )+71250
=177945kPa

Vo X Pemax=1:0x177.945=177 945kPa < 1.2 x f,=1.2x150.000=180.000kPa
(6) EAtH IR E
1 SRR R ) 1 THE
@ T x J7 1A FEAL R T S A A

e,=M , /(F+G)=33.750/( 267 300+194.400 )=0.073m
e, <B,/6.0 = 0.400m x J7[/Miils

=(F+G)/A+6x|M|/(B} x B, )
=(267.300+194.400 )/ 4.800+6 x|33.750|/( 2.4002 x 2.000)
=113.766kPa

Pon =(F+G)/A-6x|Mdyl/(BZ x B, )
=(267.300+194.400 )/ 4.800-6 x[33.750|/( 2.4002 x 2.000)
=78.609kPa

@iH&E y J5 1A FEA R T S I wEHE
e, =M, /(F+G)=195.750/( 267 300+194.400 )=0.424m

I:)max X
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e,>B,/6=0333 y ikl
a,=B,/2-|e |=2.000/ 2-/0.424)=0576m

Pmax_y=2 x(F+G)/(3x B, x a, )
=2x(267.300+194.400)/(3x 2.400x0.576)
=222 647kPa

P 0

min_y:
® H My =0, My #0

Prax=Prax xFPrax - (F+G)/A

max _x

=113.766+222.647-(267.300+194.400)/ 4800
=240.225kPa
@ TSR S IRE
P, max=Prax-G/A=240.225-194.400/ 4800=199.725kPa
P. Prax x~G/A=113.766-194.400/ 4.800=73.266kPa

Jmax_x:
P. P . -G/IA=222647-194.400/4.800=182147kPa

jmax_y: max_y
2) FEXS TP 1505
@ B (H <800) ,,=10
@77 PERT LR 1 515 5
b=b,+2xt+2x 0.075=0.400+2 x 0.200+2 x 0.075=0.950m
h=h+2x1+2x0,075=0400+2 x 0.200+2 x 0.075=0.950m

x PRI
Al,=max ((A-h/ 2-h, )x(b+2x h, )-(A-h/ 2-h, )2,(A~h/ 2-h, )x (0+2x h, )-(A2-h/ 2-h, )2

= max ((1000-0.950/ 2-0.460 ) x ( 0.950+2 x 0.460 )-(1000-0.950/ 2-0.460)2,(1000-0.95

/2-0.460)x (0.950+2 x 0.460 )+(1.000-0.950/ 2-0.460)2)
0=max(0117,0117)
=0117m2

X ORI b L e W HE
F,=A, xP.  =0117 x199.725=23433kN

jmax

7, % F,=10x23.433=23.43kN

Yo X Fy £07x B x f , xb, xh, (655-1)
=0.7x1000x189x1410x 460
=85810kN

31

X 7 Ty AR o S At e b U7 i R S T SR
2.3 My J7 [ AR R SR o) 56 4
y Y A

A= max((B,-b/ 2-h, ) x (A+A, )-(A-h 2-h, )2/ 2-(A-h/ 2-h, )2/ 2,(B,-b/ 2-h, ) x (A+A, )-
(A-h/ 2-h, )2/ 2-(A,-h/ 2-h, )2/ 2)

= max((L.200- 0.950/2- 0.460) (1.000+1.000)- (1.000- 0.950- 0.460)2/2- (1.000- 0.950-
0.460)2/2,(1.200-0.950/ 2-0.460 ) x ( 1000+L000)-(1.000-0.950-0.460 )2/ 2-(1000-0.950-0.460)2/2)
=max(0526,0526)

=0526m*

y PO E IR S DB Fly=Aly*P jmax=0. 526%199. 725=105. 011kN
¥, x F,=10x105.011=10501kN
Yo xFy <07x B x f ,xa,xh, (6551)

=0.7x1000x189x1410x460
=85810kN

y 5 TS At P e 0 MR K
(D) HEHEH
L IR x J7 AN

A=y, x MI/(09xhox fy)
=10x30.99x106/( 0.9 0.460x 435)
=1721mm?

A=A, /B,=1721/ 2.000=86mm?/m
A= MaX (A s Pmin ¥ @ x1000)
=max (86, 0150% x 200x1000)
=300mm?/m
RN 10@200, SEECTHAN Y 393mm’/m.
2. THEEERREEAR v J7 FI4N

A=, xMII/(09xhox fy)
=10x4497x106/(09x0.460x435)
=249.7mm?

=A, /B,=249.7/2.400=104mm?*/m
&yl '%y X
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Asyl =max (Asy_m1 Prin X a’l XlOOO)
= max (104, 0150% x 200x1000)
=300mm*/m

BN 10@200, SEZECTHEIFN AN 393mm’/m.
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